SEMINAR 4th December 2023
1. Some artists earn more than a million crowns a year. Explain this high income of theirs using the category net economic rent. Graphically represent this situation.
2. The demand of labour is given by the equation LD = 1500 – 20w, the supply of labour is given by the equation LS = 30w. LD (LS) represents the demanded or the quantity of labour supplied, w denotes the wage rate. Determine the equilibrium quantity of labour hired and the equilibrium wage rate. Draw in the figure.
3. We describe “human capital” as:

a) the capital needed to pay wages

b) management apparatus of the managing company

c) the type of investments that the entrepreneur must make to increase the qualifications of his employees

d) the type of investments that people make "on themselves" in different ways
4. The picture descibes the labour market of a certain profession. The number of people able to work is 100,000.

· If this labour market will not be regulated, determine:

a) wages and employment

b) amount of unemployment (voluntary and involuntary)

· If a minimum wage of 2500 is enacted, then determine:

a) employment

b) size of voluntary and involuntary unemployment
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